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m Similarity and Measurement

Goal: Find unknown side lengths of similar figures.

m Finding an Unknown Side Length in Similar Figures

Given RSTV — WXYZ, find VR.
Solution

f
) WX
S’"ﬂqf . 14 in. .
Use the ratios of the lengths of ;15N 10in.
corresponding sides to write a Y
v z

proportion invelving the unknown

length, VR.
b=
S wE
G “ % = IZ.V Write proportion involving VR.

Substitute.
\_\0_‘ . E = uq_‘ . Ui] Cross products property

%ﬂ =@ZJO Multiply.

X= @ Divide each side by @

Answer: The length of VR i
L

0 Checkpoint

1. Given APQR ~ AVTS, find TS

by PR . &k b

e}
He Vs TS x T
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Using Indirect Measurement ™

Height At a certain time of day, a person who

is 6 feet tall casts a 3-fggt ghadow. At the same
time, a ?ree casts an 11-foot shadow. The triangles

Pt ———— h
formed are similar. Find the height of the tree.
Solution & fi
. . , 3t 111t
Write and solve a proportion to find the
height h of the tree.
T bae v halghr
Hei % _
ight of pe 3 ]l\ S"Molow‘
|:| = Substitute values.
’_‘ D = m Cross products property 3
|:] = Multiply.
=[] Divide each side by | |.
Answer: The tree has a height of | | feet.
L
Using Algebra and Similar Triangles 50 -H(
Given AABC ~ /ADEC, find BE. 8 C —B

To find BE, write and solve a proportion.

%ﬁa % = ﬁ Write proportion.
) r A
4 B h,‘
%4;——??) Use fact that BC = [QM
= Substituté. Qﬁ
| I,
9-30- b

-f— Cross products property

i oy Muitiply.
= Subtract mrom each side.

ﬂ-? [a =x Divide each side by Ut@l

Answer: The length of BE is [5 inches.
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